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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER- V  EXAMINATION –Summer- 2019 

 

Subject Code: 3350505 Date: 18-05-2019     

Subject Name: Chemical Engineering Thermodynamics 

Time: 02:30 PM to 05:00 PM Total Marks: 70 
Instructions: 

 

 1. Attempt all questions. 

 2. Make Suitable assumptions wherever necessary.  

 3. Figures to the right indicate full marks.  

 4. Use of programmable & Communication aids are strictly prohibited.  

 5. Use of only simple calculator is permitted in Mathematics.  

 6. English version is authentic. 

Q.1  Answer any seven out of ten. દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. 14 

 1. State zeroth law of thermodynamics.  

 ૧. ઉષ્મ ગતત શ સ્ત્રન  શનૂ્ય તનયમ તવષે લખો.  

 2. Define heat source and heat sink.  

 ૨. હીટ સોસસ અને હીટ સીંક ની વ્ય ખ્ય  આપો.  

 3. Define compressibility factor.  

 ૩. ક્મપ્રેસીબીલીટટ ફેક્ટર ની વ્ય ખ્ય  આપો.  

 4. Define triple point. What is the triple point of water?  

 ૪. ટ્રીપલ પોઈન્ટ ની વ્ય ખ્ય  આપો. પ ણીનો ટ્રીપલ પોઈન્ટ શ ાં છે?  

 5. Define internal energy with its unit.  

 ૫. આંતટરક ઉર્જસની વ્ય ખ્ય  એકમ સ થે લખો.  

 6. Draw P-V diagram diagram for pure fluid  

 ૬. શ દ્ધ પ્રવ હી મ ટે નો P-V ડ ય ગ્ર મ દોરો.  

 7. Define extensive and intensive properties with two example of each.  

 ૭. એક્સટેન્ન્સવ અને ઈન્ટેન્ન્સવ ગ ણધમો બે ઉદ હરણ સ થે સમર્જવો.  

 8. Define adiabatic flame temperature.  

 ૮. એટડય બેટીક ફ્લેમ ત પમ ન ની વ્ય ખ્ય  આપો.  

 9. Define closed system with example.  

 ૯. બાંધ પ્રણ લી ની વ્ય ખ્ય  ઉદ હરણ સ થે આપો.  

 10. Write mathematical equation of enthalpy for constant pressure process  

 ૧૦. અચળ દબ ણ મ ટે એંથ લ્પી સમીકરણ આપો.  

    
Q.2 (a) Calculate the degree of freedom for binary distillation system. 03 

પ્રશ્ન. ર (અ) બ યનરી ડીસ્ટીલેશન મ ટે ટડગ્રી ઓફ ફ્રીડમ ગણો. ૦૩ 

  OR  

 (a) Calculate the degree of freedom for system of water, vapor and ice are in 

equilibrium. 

03 

 (અ) જ્ય રે પ ણી, વર ળ અને બરફ જો equilibrium મ ાં હોય ત્ય રે આ પ્રણ લી મ ટે  

ટડગ્રી ઓફ ફ્રીડમ ગણો. 
૦૩ 

 (b) Give the difference between reversible and irreversible process. 03 
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 (બ) ટરવતસિબલ અને ઈર ટરવતસિબલ પ્રટિય  વચ્ચેનો તફ વત આપો. ૦૩ 

  OR  

 (b) Differentiate state and path function with example. 03 

 (બ) સ્ટેટ અને પ થ ફાંક્શન નો તફ વત ઉદ હરણ સ થે લખો. ૦૩ 

 (c) Write short note on “Carnot Cycle”. 04 

 (ક) ક નોટ સ ઇકલ તવષે ટૂાંક નોધ લખો. ૦૪ 

  OR  

 (c) Explain the importance of entropy in thermodynamics. 04 

 (ક) ઉષ્મ ગતત શ સ્ત્ર મ ાં એન્ટ્રોપી ન ાં મહત્વ સમર્જવો. ૦૪ 

 (d) A closed system executes adiabatic process due to which a change in internal 

energy takes place. A work of 130 kJ is done by the system on surroundings 

during this process. Determine change of specific internal energy of the 

system if system contains mass of 0.5 kg. 

04 

 (ડ) બાંધ પ્ર ણ લી જ્ય રે એડીય બટેીક પ્રટિય  કરે છે ત્ય રે આંતટરક ઉર્જસ મ ાં ફેરફ ર 

થ ય છે. આ પ્રટિય  દરમીય ન 130 kJ જેટલ ાં ક યસ પ્રણ લી દ્વ ર  વ ત વરણમ ાં 
થ ય છે. જો પ્રણ લી 0.5 કીલો મ સ ધર વે તો change of specific internal energy 

શોધો. 

૦૪ 

  OR  

 (d) Heat is transferred to 10 kg of air which is initially at 100 kPa and 300 K until 

its temperature reaches 600 K. Determine the change in internal energy and 

change in enthalpy for constant volume process. Assume air is an ideal gas. 

Cv=20.785 kJ/kmol and molecular wt. of air = 29. 

04 

 (ડ) 10 kg હવ  કે જે શરૂઆતમ ાં 100 kPa અને 300 K હોય અને જ્ય ાં સ ધી ત પમ ન 

600 K થ ય ત્ય ાં સ ધી એમ ાં ઉષ્મ  ટ્ર ન્સફર થ ય છે. તો અચળ કદ પ્રટિય  મ ટે 

આંતટરક ઊર્જસમ ાં થતો ફેરફ ર તથ  એંથ લ્પીમ ાં થતો ફેરફ ર શોધો. ધ રો કે હવ  
એક આદશસ વ ય  છે. Cv=20.785 kJ/kmol અને હવ નો અણ ભ ર=29. 

૦૪ 

    
Q.3 (a) Explain Standard heat of combustion. 03 

પ્રશ્ન. 3 (અ) પ્રમ ણણત દહન ઉષ્મ ની વ્ય ખ્ય  આપો. ૦૩ 

  OR  

 (a) Describe the effect of temperature on reaction. 03 

 (અ) ત પમ નની ટરએક્શન પર થતી અસર વણસવો. ૦૩ 

 (b) Write down statements for second law of thermodynamics. 03 

 (બ) ઉષ્મ ગતતશ સ્ત્રન  બીર્જ તનયમન  તવધ નો  લખો. ૦૩ 

  OR  

 (b) Explain clausius inequality. 03 

 (બ) ક્લોશીયશ ઇનઇક્વણલટી સમર્જવો. ૦૩ 

 (c) Explain PVT behavior of pure fluids. 04 

 (ક) શ ધ્ધ પ્રવ હી મ ટે PVT વતસણ ક સમર્જવો. ૦૪ 

  OR  

 (c) Explain Polytropic process. 04 

 (ક) પોલીટ્રોતપક પ્રટિય  સમર્જવો. ૦૪ 

 (d) One kilomol CO2 occupies a volume of 0.381 m3 at 313 K. Calculate the 

pressures by Ideal gas equation and Vander Waals equation. Take contant a = 

04 
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0.365 Nm4 /mol2 and b = 4.28 x 10 -5 m3 /mol. 

 (ડ) 0.381 m3 કદ એક ટકલોમોલ CO2 313 K ત પમ ને રોકે છે. તો આદશસ વ ય  અને 
વ ાંડરવ લ સમીકરણથી દબ ણની ગણતરી કરો. અચળ ાંકન ાં મલૂ્ય a = 0.365 Nm4 

/mol2 અને b = 4.28 x 10 -5 m3 /mol છે. 

૦૪ 

  OR  

 (d) Prove Cp – Cv = R for ideal gases. 04 

 (ડ) આદશસ વ ય  મ ટે Cp – Cv = R સ ણબત કરો. ૦૪ 

    
Q.4 (a) Write limitations of first law of thermodynamics. 03 

પ્રશ્ન. ૪ (અ) ઉષ્મ ગતત શ સ્ત્ર ન  પ્રથમ તનયમની મય સદ ઓ લખો. ૦૩ 

  OR  

 (a) Discuss the Virial equation. 03 

 (અ) વીરીયલ સમીકરણ તવષે ચચ સ કરો. ૦૩ 

 (b) A heat engine operates between 850 K and 350 K. Calculate the maximum 

efficiency. 

04 

 (બ) એક હીટ એન્ન્જન 850 K એ ઉષ્મ  મેળવ ે છે અને 350 K ઉષ્મ  ફેંકે છે. તો તેની 
મહત્તમ ક યસક્ષમત  શોધો. 

૦૪ 

  OR  

 (b) What is the change in entropy when 2 kg of an ideal gas at 277 K is heated at 

constant volume to a temperature of 368 K? Take Cv = 1.42 kJ/kg K 

04 

 (બ) જો 2 kg આદશસ વ ય  227 K થી 368 K સ ધી અચલ કદે ગરમ કરવ મ ાં આવે તો 
એંટ્રોપી મ ાં થતો ફેરફ ર શોધો. Cv = 1.42 kJ/kg K લો. 

૦૪ 

 (c) For an ideal gas, derive equation of work done for isothermal process. 07 

 (ક) આદશસ વ ય  મ ટે, આઈસોથમસલ પ્રોસેસ મ ટે ક યસ ન ાં સતૂ્ર ત રવો. ૦૭ 

    
Q.5 (a) Derive an equation of first law of thermodynamics for flow process. 04 

પ્રશ્ન. ૫ (અ) ફ્લો પ્રોસેસ મ ટે ઉષ્મ ગતતશ સ્ત્રન   પહલે  તનયમન ાં સતૂ્ર ત રવો. ૦૪ 

 (b) Calculate the heat of formation of methane gas using Hess’s Law. Following 

is the heat of combustion data for methane gas: 

a) CH4(g) + 2O2(g) → CO2(g) + 2H2O(l); ∆H°298= -800 KJ 

b) C(s) + O2(g) → CO2(g); ∆H°298 = -300 KJ 

c) H2(g) + ½ O2(g) → H2O(l); ∆H°298 = -200 KJ 

04 

 (બ) Hess’s તનયમ નો ઉપયોગ કરીને તમથેન વ ય  ની heat of formation નીચ ેઆપેલી 
મ ટહતીનો ઉપયોગ કરી ગણતરી કરો. 

a) CH4(g) + 2O2(g) → CO2(g) + 2H2O(l); ∆H°298= -800 KJ 

b) C(s) + O2(g) → CO2(g); ∆H°298 = -300 KJ 

c) H2(g) + ½ O2(g) → H2O(l); ∆H°298 = -200 KJ 

૦૪ 

 (c) Explain Heat engine and Heat pump. 03 

 (ક) હીટ એન્ન્જન અને હીટ પાંપ સમર્જવો. ૦૩ 

 (d) Explain equation of state for real gases 03 

 (ડ) વ સ્તતવક વ ય  મ ટે ઈક્વેશન ઓફ સ્ટેટ સમર્જવો. ૦૩ 

 

************ 


